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QUESTION 1

You want to use Sky ATP to protect your network; however, company policy does not allow you to send any files to the
cloud. 

Which Sky ATP feature should you use in this situation? 

A. Only use on-premises local Sky ATP server anti-malware file scanning. 

B. Only use cloud-based Sky ATP file hash lookups. 

C. Only use on-box SRX anti-malware file scanning. 

D. Only use cloud-based Sky ATP file blacklists. 

Correct Answer: B 

 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which two values in the JIMS SRX client configuration must match the values configured on the
SRX client? (Choose two.) 

A. IPv6 Reporting 
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B. Client ID 

C. Client Secret 

D. Token Lifetime 

Correct Answer: BC 

Reference: https://www.juniper.net/documentation/en_US/jims/topics/task/configuration/jims-srxconfiguring.html 

 

QUESTION 3

Click the Exhibit button. 

Referring to the exhibit, which two devices are considered to be part of the secure fabric site with Policy Enforcer?
(Choose two.) 

A. Server-2 

B. SRX-1 

C. Server-1 

D. QFX-1 

Correct Answer: BD 
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QUESTION 4

What are three primary functions of JATP? (Choose three.) 

A. detection 

B. encryption 

C. optimization 

D. analytics 

E. mitigation 

Correct Answer: ADE 

 

 

QUESTION 5

Which two statements about JIMS high availability are true? (Choose two.) 

A. JIMS supports high availability through the installation of the primary and secondary JIMS servers. 

B. SRX clients are configured with the shared virtual IP (VIP) address of the JIMS server. 

C. SRX clients are configured with the unique IP addresses of the primary and secondary JIMS servers. 

D. SRX clients synchronize authentication tables with both the primary and secondary JIMS servers. 

Correct Answer: AC 
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